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PART A: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence.

Then mark the answer on your answer sheet.

10-

Growing older and more decrepit appeared to be an ---------- and necessary part of being
human.

1) mnevitable 2) intangible 3) unforeseeable 4) unsentimental

I don’t really think I’d have the ---------- to finish a marathon!

1) concern 2) candor 3) endurance 4) autonomy

Her marriage started to improve once her husband finally ---------- he had an anger
problem and began to take counseling.

1) identified 2) emerged 3) hesitated 4) acknowledged
Society is an interdependent system that ---------- widespread cooperation to function.

1) proceeds 2) requires 3) fascinates 4) conveys

Our blue planet is a ---------- . Life depends on water, yet in its natural form, the water in
the oceans will not sustain us because we cannot drink salt water.

1) refuge 2) remedy 3) paradox 4) vacillation

I thought I was buying a/an ---------- native Indian carving, but discovered later that it
was machine-made.

1) genuine 2) definitive 3) secretive 4) artificial

The entrepreneur had a well-deserved reputation for ---------- , having accurately
anticipated many changes unforeseen by established business leaders.

1) modesty 2) hindsight 3) prescience 4) extroversion
Studies of longevity among turtles are sometimes ---------- by the fact that the subjects
live so long that researchers retire before the studies can be completed.

1) stabilized 2) hampered 3) diversified 4) verified

Kevlar is a --=------- new material which is used for everything from airplane wings, to
bullet-proof vests, to hockey sticks.

1) prescriptive 2) versatile 3) dormant 4) derivative

If exploitation of the planet’s resources continues as at present, then the lifestyle we
currently enjoy ---------- the risk of causing significant damage to the world.

1) proposes 2) puts 3) shapes 4) runs

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Scientists and philosophers have been grappling with the relationship between
language and thought for centuries. There have always been (11) ---------- that our
picture of the Universe depends on our native tongue. Since the 1960s, however,
(12) ------—--- the ascent of thinkers like Noam Chomsky, and a host of cognitive
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scientists, (13) ---------- that linguistic differences don’t really matter, (14) ----------
language 1s a universal human trait, and that our ability to talk to one another owes
more to our shared genetics (15) ---------- . But now the pendulum is beginning to
swing the other way as psychologists re-examine the question.

11- 1) that they argue 2) those who argue
3) an argument by those 4) arguing those who
12- 1) with 2) for 3) by 4) in
13- 1) whose consensus 2) who has the consensus
3) the consensus has been 4) 1s the consensus
14- 1)a 2) the 3) what 4) that
15- 1) and our cultures vary 2) than to our varying cultures
3) than our cultures that vary 4) as to our varying cultures

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

While cities and their metropolitan areas have always interacted with and shaped the
natural environment, it is only recently that historians have begun to consider this
relationship. During our own time, the tension between natural and urbanized areas has
increased, as the spread of metropolitan populations and urban land uses has reshaped
and destroyed natural landscapes and environments.

The relationship between the city and the natural environment has actually been
circular, with cities having massive effects on the natural environment, while the
natural environment, in turn, has profoundly shaped urban configurations. Urban
history is filled with stories about how city dwellers contended with the forces of
nature that threatened their lives. Nature not only caused many of the annoyances of
daily urban life, such as bad weather and pests, but it also gave rise to natural disasters
and catastrophes such as floods, fires, and earthquakes. In order to protect themselves
and their settlements against the forces of nature, cities built many defenses including
flood walls and dams, earthquake-resistant buildings, and storage places for food and
water. At times, such protective steps sheltered urbanites against the worst natural
furies, but often their own actions — such as building under the shadow of volcanoes,
or in earthquake-prone zones — exposed them to danger from natural hazards.

16- According to paragraph 1, cities and natural environment ---------- .
1) have reduced and decreased their tension recently.
2) have been interacting for long period of time.
3) have interacted recently, in the historian’s view.
4) have been always in destructing tension
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20-

Expansion of urban areas population caused ---------- A

1) Damages to natural landscape

2) Destruction of built environment

3) Spread of metropolitan natural resources

4) Expansion of land uses and environment protection

According to paragraph 2, which sentence is best in line with the text?

1) Urban history 1s lacking of stories of natural disasters.

2) the urban areas have profound impact on natural environment.

3) natural environment has caused extremely bad conditions for the city dwellers.

4) Urban residents are generally not affected by catastrophic impacts of volcano.

In Paragraph 2, the writer’s main point is to explain that?

1) Cities are fully equipped with welfare and economic growth.

2) The protective actions are perfectly preventing from natural disasters.

3) Earthquake-resistant buildings are safe against volcano but exposed to urban walls.

4) Cities have protected themselves against, and not exposed at all to danger from
natural hazards.

What does ‘urbanites ‘mean?

1) residents 2) industries 3) urbanism 4) factories

PASSAGE 2:

The world’s urban population is expected to surpass six billion by 2045. Much of the
expected urban growth will take place in countries of the developing regions,
particularly Africa. Sustainable development depends increasingly on the successful
management of urban growth, especially in low-income and lower-middle-income
countries where the pace of urbanization is projected to be the fastest. Many countries
will face challenges in meeting the needs of their growing urban populations,
including for housing, transportation, energy systems and other infrastructure, as well
as for employment and basic services such as education and health care. Integrated
policies to improve the lives of both urban and rural dwellers are needed, while
strengthening the linkages between urban and rural areas, building on their existing
economic, social and environmental ties.

City populations require food, water, fuel, and construction materials, while urban
industries need natural materials for production purposes. In order to fulfill these
needs, urbanites increasingly had to reach far beyond their boundaries. In the
nineteenth century, for instance, the demands of city dwellers for food produced rings
of garden farms around cities. In the twentieth century, as urban populations increased,
the demand for food drove the rise of large factory farms. Cities also require fresh
water supplies in order to exist — engineers built waterworks, dug wells deeper and
deeper into the earth looking for groundwater, and dammed and diverted rivers to
obtain water supplies for domestic and industrial uses. In the process of obtaining
water from distant locales, cities often transformed them, making deserts where there
had been fertile agricultural areas.
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21-  According to Paragraph 1, World’s population ---------- 2
1) will decrease in the next two decades
2) will increase 1n the next two decades
3) will decrease in the low-income countries
4) will not increase in the lower-middle-income countries
22- According to Paragraph 1, Sustainable development ---------- .
1) is a great opportunity for urban growth
2) depends on the expansion of urban areas
3) is a great opportunity for population growth
4) is subject to the urban growth management
23- According to paragraph 2, the cause of the rise in the food and water demand in the
cities i ---------- 2
1) Green belt around city 2) Construction of Factories
3) Urban population growth 4) Expansion of boundaries
24- In Paragraph 2, what does the term construction materials mean?
1) Natural materials 2) Soils, plants, cattle,
3) Cotton, textile, plastic 4) Stone, bricks, cement,
25-  Which of the following is NOT true about city dwellers?

1) city residents built rings of garden farms around cities for developing their houses.
2) as urban populations increased, the demand for food and water will increase.

3) engineers built canals, waterways, and dug wells to find groundwater.

4) cities require fresh water supplies in order to exist.

PASSAGE 3:

Dissatisfaction with conventional explanations for dinosaur extinctions led to a
surprising observation that, in turn, has suggested a new hypothesis. Many plants and
animals disappear abruptly from the fossil record as one moves from layers of rock
documenting the end of the Cretaceous up into rocks representing the beginning of the
Cenozoic (the era after the Mesozoic). Between the last layer of Cretaceous rock and
the first layer of Cenozoic rock, there is often a thin layer of clay. Scientists felt that
they could get an idea of how long the extinctions took by determining how long it
took to deposit this one centimeter of clay and they thought they could determine the
time it took to deposit the clay by determining the amount of the element iridium (Ir) it
contained.

Ir has not been common at Earth’s surface since the very beginning of the planet’s
history. Because it usually exists in a metallic state, it was preferentially incorporated
in Earth’s core as the planet cooled and consolidated. Ir is found in high concentrations
in some meteorites, in which the solar system’s original chemical composition is
preserved. Even today, microscopic meteorites continually bombard Earth, falling on
both land and sea. By measuring how many of these meteorites fall to Earth over a
given period of time, scientists can estimate how long it might have taken to deposit
the observed amount of Ir in the boundary clay. These calculations suggest that a
period of about one million years would have been required. However, other reliable
evidence suggests that the deposition of the boundary clay could not have taken one
million years. So the unusually high concentration of Ir seems to require a special
explanation.
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27-

28-

29-

30-

In view of these facts, scientists hypothesized that a single large asteroid, about 10
to 15 kilometers across, collided with Earth, and the resulting fallout created the
boundary clay. Their calculations show that the impact kicked up a dust cloud that cut
off sunlight for several months, inhibiting photosynthesis in plants; decreased surface
temperatures on continents to below freezing; caused extreme episodes of acid rain;
and significantly raised long-term global temperatures through the greenhouse effect.
This disruption of the food chain and climate would have eradicated the dinosaurs and
other organisms in less than fifty years.

According to paragraph 1, which of the following is true of the animals and plants

vanishing?

1) There is often a thick layer of clay between the last layer of Cenozoic rock and the
first layer of Cretaceous rock.

2) Plants and animals were left between last layer of Cretaceous rock and the first
layer of Cenozoic rock.

3) Plants and animals vanishing sharply from fossil record and at the end of
Cretaceous period.

4) Plants and animals disappear slowly from fossil layers’ record and the end of
Cenozoic era.

According to paragraph 1, which of the following is true of scientists’ fillings about the

animals’ extinctions?

1) They could understand extinctions time through defining amount of element Iridium
in the clay layer.

2) They could get an idea of how long the extinctions took by determining how long it
took to deposit this ten centimeter of clay and Iridium.

3) Between the layer of Cretaceous rock and the layer of Cenozoic rock, there is often
a thin layer of rock.

4) There is high deposition of rock between the last layer of Cenozoic and the first
layer of Cretaceous clay.

According to paragraph 2 which one is true of Ir presence at Earth?

1) Iridium was not very common at Earth’s surface at the early history of the planet.

2) Iridium was not very common at Earth’s core at the early history of the planet.

3) Ir is found in high amount in the non-metal chemical composition.

4) Ir is not found in the original metal chemical composition.

According to paragraph 3, the word “inhibiting” in the passage is closest in meaning to -

1) encouraging 2) making up 3) speeding 4) preventing
In paragraph 3, the word “eradicated” in the passage is closest in meaning to ---------- A
1) supported 2) strengthened 3) exterminated 4) examined
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